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  1 المحاضرة الاولى 

 - He  . . . . . . a teacher  
a) am 
b) is 
c) are 
d) have 

 

- Change to a pronoun : Fahad and Ahmed are friends …….. in the  same class 
a) They  are 
b) He  is 
c) We  are 
d) You  are 

 
What  is  the ADJECTIVE of  the  noun “Africa” ? 
a) African 
b) Africano 
c) Africanese  
d) Africanean 
  

 - She . . . . my  friend 
a) will 
b) am 
c) have 
d) is 

 
 
- Choose  the  correct  short  sentence  
a) This men  is  an  engineer 
b) This  man  are  engineer 
c) This  man  is  engineer 

This  man  is  an  engineer d)  

 

- Be  quiet! My  grandmother . . . 
a) am  sleeping 
b) are  sleeping 
c) is  sleeping 
d) sleep 

 

- Don’t  disturb  her . She . . . . sleeping  
a) have  
b) do 
c) is 
d) were 
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- The  NOUN  from  the  verb “choose”   is . . . .  مكرر بإختلاف المعطيات  

a) choice 
b) case 
c) chose 
d) choline 

 
 
- The  opposite  of  ‘NORTH’  is . . . . . 

a) stout 
b) west 
c) south 
d) East 

 
 
The  adjective  from  ‘tradition’  is . . . . . 

a) traditions 
b) transitional 
c) training 
d) traditional 

 
My husband and I have a new car, ………. Got it last month 
a) They  
b) We  
c) I  
d) He  

 
The  past  form  of  swim  is . . . . . 

a) swim 
b) swan 
c) swimming 
d) swam 

 
 
- The  VERB  from  the  noun   “Declaration”  is  . . . . 

a) declare 
b) denture 
c) declarative 
d) declared 

 

- The  opposite of  “ important ” is . . . . . 
a) importees 
b) irrimportant 
c) importance 
d) unimportant 

 
 
 
 



  (1)93-1أسئلة 

 

( 2) 93-1أسئلة   

 

    
  

3 
ادارة اعمال  -اللغة الانجليزية  

(93) أسئلة الفصل الصيفي   أسئلة المراجعة  

 

  93-1أسئلة 

 

  93-2أسئلة 

 
 - Both ‘ a ‘ and  ‘ an ‘ are  used  in front  of . . . . . 

a) pulural  nouns 
b) verbs 
c) singular  nouns 
d) adjectives 

 

 - The  parents  . . . . . at  home 
a) be 
b) was  
c) is 
d) are 

 
- . . . . you  waiting  for  a bus ?  We  can  go  together  if  you  want   

a) Is 
b) Do 
c) Are 
d) Did 

 
 
- My students usually _______ interesting books 

a) Buys 
b) Buries 
c) Buy 
d) Buyers 

 
Complete the sentence with BE verb.  The cat ……… under the table. 
a) am 
b) on 
c) are 
d) is 

 
 

Complete with sentence with the BE verb. Riyadh is ……….. 
 ناقص الخيارات

 

Complete with BE. He ………. an engineer 
a) am 
b) is 
c) are 
d) have 

 
 

Complete with  the correct noun. The dog is ……….  
a) animal  
b) an animal 
c) animals 
d) a animal 
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Complete with  the correct noun. Last summer, Sally visited three ……… 

 in Europe 
a) countries 
b) country 
c) countrys 
d) a country 

 

- Complete the sentence : Cats  are ………. 
a) animals 
b) an animals 
c) an animal 
d) a animal 

 
Change to a prounoun. Nadia and Reem are friends,………. In the same class 

a) She is 
b) We are 
c) They are 
d) You are 

 

The pronoun “these” in “Fifty to hundred people lived together in  
group of houses; these were all family members”  refers  to………. 

a) a group  of  houses 
b) fifty to hundred people 
c) hundred 
d) family  members 

 

2 المحاضرة الثانية  

 
 - Choose  the  sentence  that  contains  a contraction  with  BE  

a) They  are  my  friends 
b) They’re  good  people 
c) They  are  good  people 
d) These  are  Sally’s  books 

 
- Sally  and  her  sisters . . . . . . many  books   

a) his 
b) is 
c) am 
d) have 
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- You  and  Sally  are  next. It  is . . . . . turn   

a) my 
b) your 
c) our 
d) their 

 
Complete with the correct contraction: I have a dictionary 

a) It is on my desk 
b) It ‘s on my desk  
c) It,s on my desk 
d) Itis on my desk 

 
 Choose the sentence that contains contraction  with  BE. 
a) We are good people 
b) These are Ahmed’s books 
c) They are my books 
d)  They’re good people 

 
 

The bus will arrive the station ………. 8:30 PM 
a) on 
b) in 
c) at 
d) under 

 
 - Choose  the  sentence  that  contains  a prepositional  phrase 

a) She  reads  stories  from  the  internet 
b) She  wrote  three  letters  yesterday 
c) We  have  seen  Sally  watching  the  TV 
d) The  students  wrote  their  homework 

 
- Choose  the  sentence  that  contains  a contraction  with  BE 

a) They  are  watching  the TV. 
b) We’re  professional  in  marketing 
c) I  saw  Sally’s  father 
d) We  are  professional  in  marketing 

 
 - To  negate  a sentence with ‘BE’ , we  . . . . . 

a) add ‘does’ after  the  form  of  ‘BE’ 
b) add ‘not’ before the form of  ‘BE’ 
c) add ‘not’ at the beginning of the sentence 
d) add ‘not’  after  the  form  of ‘BE’ 
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 -  . . . . .  describe  or  give  information  about  a noun  or  pronounce  comes  at  the  
beginning  of  a sentence  

a) Adverbs 
b) Verbs  
c) Prepositions 
d) adjectives 

 

 - ‘ At ‘ is  used  “She  will  meet  you  at 3:00 O’clock “  to  . . . . . 
a) point  out  a specific  occasion 
b) point  out  a specific  person 
c) point  out  a specific  place 
d) point  out  a specific  time 

 
 
- To form a negative sentence in the present progressive, _______ 

a) We add ‘not before ’BE’ 
b) We add ‘do not ‘after ‘BE’ 
c) We delete ‘BE’ from the sentence 
d) We add ‘not’ after ‘BE’ 

 
 
- Sally said that she did not _____ 

a) Got much mail 
b) Get much mail 
c) Get much mails 
d) Got much mails 

 
- Choose the correct sentence 

a) Pronouns have different meanings from they refer to 
b)  Verb have the same meaning as the nouns they refer to 
c) Pronouns have the same meanings as the adjectives they refer to 
d) Pronouns have the same meanings as the nouns they refer to 

 
 

-  My father works at _________ university 
a) An 
b) A 
c) These 
d) Those 
 

- The  party  will  start  . . . . 6:00 O’clock   
a) on 
b) in 
c) at 
d) under 

 



  (1)93-1أسئلة 

 

( 2) 93-1أسئلة   

 

    
  

7 
ادارة اعمال  -اللغة الانجليزية  

(93) أسئلة الفصل الصيفي   أسئلة المراجعة  

 

  93-1أسئلة 

 

  93-2أسئلة 

 
- The pronoun it in "I have a red book; it is on my desk" raters to ________ 

a) The adjective ‘red’ 
b) The verb ‘have’ 
c) The phrase ‘a red book ‘ 
d) The subject  

 
- The plural from tooth is ___________ 
a) Tooth’s 
b) Tenths 
c) Tilth 
d) Teeth 

 
- The adjective from ‘family’ is ___________ 

a) Familiar 
b) Families 
c) Famine 
d) Familial 

 
- The adjective from ‘child is ___________ 

a) kids 
b) children 
c) childish 
d) chilled 

 

- The  opposite  of “beautiful” is . . . . .  
a) ideology 
b) guilty 
c) ugly 
d) eulogy 

 

- The  opposite  of  the word “question” is . . . .  
a) swear 
b) answer 
c) asker 
d) usher 

 
- Choose  the  correct  short  answer  for  “Is  your  father  an  engineer ?”  

a) Yes, he  is  not 
b) Yes, he  is 
c) No,  he is 
d) Yes,  they  are 
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Choose  the  sentence  that  contains  a contraction  with  BE 

a) They are watching the TV. 
b) We’re professional in marketing 
c) I saw Sally’s father 
d) We are professional  in  marketing 

 
- Choose  the  sentence  that  contains  a prepositional phrase 

a. He wrote four letters last night 
b. They saw Sally watching the TV 
c. They met their teachers in the party 
d. The manager gave a lecture  

 

 
Choose the sentence that contains a prepositional phrase : 
a) She eat three apples last night 
b) They saw Ahmed watching the TV 
c) She met her friends in the house 
d) The teacher gave a lacture 

 
 

9 المحاضرة الثالثة  

 

 - Ahmad  is  so  busy  right  now; he . . . . . . his  homework 
a) does 
b) did 
c) is  done 
d) is  doing 

 
 - The  opposite  of  the  word ‘different’ is  . . . . . 

a) pleasing 
b) deserted  
c) dissimilar 
d) similar 

 

- Water _______ at 100 degree. 
a) Boils 
b) Are boiling 
c) Have boiled 
d) Boil 
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Read the number (29,570,600) 
a) Twenty’nine thousand five hundred seventy million six hundred 
b) Twenty’nine million  five hundred seventy thousand six hundred 
c) Twenty’nine hundred five  thousand seventy million six hundred 
d) Ninety’two million five hundred seventy thousand six hundred 

 
 

- The number for ‘Twenty-three million five hundred seventy thousand six hundred’ is …. 
a) 32,570,600 
b) 23,750,600 
c) 23,570,600 
d) 23,570,006 
-  
- The number for ‘Nine hundred fifty thousand six hundred thirty-two’ 
a) 590,632 
b) 950,623 
c) 950.633 
d) 950,632 

- Choose  the  correct  reading  for  the  number (23,570,600)  
a) Twenty-four  million  five  hundred  seventy  thousand  eight  hundred 
b) Twenty-three  thousand  five  hundred  seventy  million  six  hundred 
c) Twenty-three  million  five  hundred  seventy  thousand  six  hundred 
d) Twenty-three  hundred  five thousand  seventy  million  six  hundred 

 
- Choose  the  correct  reading  for  the  number  (15.700.000)  

a) Fifty  million  eight  hundred  thousand 
b) Fifteen  million  seven  hundred  thousand 
c) Fifteen  thousand  seven  hundred  thousand 
d) Fifteen  hundred  seven  million  thousand 

 
 

- How do you read this number  8.273? 
eight-thousand two hundred seventy three  
 
 

 
- Choose  the  correct  reading  for  the  6,475  number  

a) Six  thousand  four  hundred  seventy-five 
b) Six  thousand  four  hundred  fifty-seven  
c) Six  thousand  seven  hundred  forty-five 
d) Six  million  four  thousand  seventy-five 

 
 
 
 
 

 ناقص باقي الخيارات
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Read the following passage and answer the questions that follow:                

Monster Cities  قطعة من الكتاب بعنوان 

Are big cities wonderful places? Are they terrible? There are different ideas about this. 
William H. Whyte writes books about cities. He is happy in a crowded city. He loves busy 
streets with many stores and many people. He likes the life in city parks and restaurants. 
Many people don't like big cities. They see the large population of cities and they are afraid. 
Many cities are growing very fast. They are "monster" cities. (A monster is a big, terrible 
thing). In some countries, there are no jobs in small towns. People go to cities to work. For 
example, 300,000 people go to Sao Paulo, Brazil, every year. In china, about 183,000 people 
move to Beijing from the countryside every year. Sao Paulo and Beijing are both megacities. 
A megacity is a very, very big city. It includes the main city and cities and towns around it. 
People density is the number if people in one square mile (2.59 square kilometers). There are 
big problems in megacities. In many U.S cities there are many people with no jobs and no 
homes; the air is dirty. A terrible problem is crime. Many people are afraid of crime. People 
want to feel safe. 

 
-  William H. Whyte like the life ……………… . 

a) in the village 
b) in the city 
c) in the river 
d) in village with many parks and restaurant 
 

- "Sao Paulo" and "Beijing" are both ……………… . 
a) vineries 
b) toners 
c) countryside's 
d) megacities 

 
 

 "Sao Paulo" and "Beijing" are both ……………… . 
a) towns 
b) megacities 
c) small cities 
d) villages 

 
- A big, terrible thing is a ……………… . 

a) master 
b) mobster 
c) monster 
d) minister 

 
-  ……………… is what we call 'population density'. 
a) The number of people in one scared mile. 
b) The number of people in one square millimeters. 
c) The number of pupils in one square mile. 
d) The number of people in one square mile. 
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 = ……………… is a country. 

a) A region that is unidentified as a distinct entity in political geography. 
b) A region that is identified as an indistinct entity in political geography. 
c) A region that is identified as a distinct entity in political geography. 
d) A region that is identified as a distinct nonentity in political demography. 

 
 

-  The word 'terrible' means ……………… . 
a) causing or likely to cause error 
b) causing or likely to cause terror 
c) causing or likely to cause tremor 
d) causing or likely to cause trimmer 

 
- The word 'crowded' means ……………… . 

a) involving a small number of people 
b) involving a discharge lumber of people 
c) involving Lafarge member of people 
d) involving a large number of people 

 
 

The word 'busy' means ……………… 
a) inactively and inattentively engaged in work  
b) actively and attentively enraged by work 
c) actively and attentively engaged in work 
d) lavishly and deceptively engaged in work 

 
 

-  The word 'fear' means ……………… . 
a) filled with appreciation 
b) filled with attention 
c) filled with approbation 
d) filled with apprehension 

 
 

-  The total number of persons inhabiting a country, city, or any district is …… 
a) perennation 
b) probation 
c) population 
d) publication 
 

 
- The opposite of 'afraid' is ……………… 

a) featherless 
b) fatherless 
c) fierce 
d) fearless 
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-  The opposite of 'crowded' is ……………… . 
a) deflated 
b) departed 
c) deserted 
d) dissected 

 
- Sao Paulo is in ……………… . 

a) The United States 
b) The United Kingdom 
c) Brazil 
d) Beijing 

 
- The main idea of the above message is ……………… . 

a) The degree of population in small villages 
b) The black people in Minnesota 
c) The problems of big cities 
d) The pipelines in towns and large cities 

 
 

-  William H. Whyte writes books about ……………… . 
a) countries 
b) villages 
c) cities 
d) factories 

 
-  In all megacities, people are usually afraid of ……………… . 

a) water shortage 
b) food shortage 
c) milk shortage 
d) crime 

 
- The word 'dirty' in 'the air is dirty' can mean ……………… . 

a) not clone 
b) clean 
c) beautiful 
d) not clean 

 
 

 Choose the correct sentence. 
a) A village is a very big city that includes the main village and the cities and towns 

around it. 
b) A megacity is a very small city that excludes the main city and the cities and towns 

around it. 
c) An edacity is a very big city that includes the main villages and the cities and counties 

around it. 
d) A megacity is a very big city that includes the main city and the cities and towns around 

it. 
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-  Choose the correct sentence. 
a) One square meter equals 2.59 square kilometers. 
b) One square mile equals 4.59 square kilometers. 
c) One square mile equals 2.59 square millimeters. 
d) One square mile equals 2.59 square kilometers. 

 
 

In all megacities, there are many people with no ……………… . 
e) children 
f) wives 
g) cars 
h) jobs 

 
A terrible problem in monster cities is ……………… . 

a) No money 
b) Clean air 
c) crime 
d) no cars 

 
what do people in megacities want ? ……………… . 

a) to feel safe 
b) to eat well 
c) beautiful 
d) wonderful 

 
 

“The air is dirty” The word dirty means …………. 
e) clean 
f) not clean 
g) beautiful 
h) wonderful 

 
what  does William H. Whyte write books about ? 

a) cities 
b) countries 
c) villages 
d) ted,factories 

 
 

Explain the meaning of the word “wonderful”  
a) Causing terror 
b) Filled to excess 
c) Feeling fear 
d) Extremely good 
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 Give the opposite of the word “busy” ? 

a) Quiet, inactive 
b) Deserted, empty 
c) Similar 
d) unsafe 

 
 what is the definition of a megacity ? 

a) A big, terrible thing 
b) A very big city with other areas around it 
c) The number of people in one square mile 
d) A distinct entity in political geography 

 
 
 

………. Is the number of people living in a particular country ? 
a) population 
b) monster 
c) megacity 
d) capital 

 
 
Read the following passage and answer the questions that follow :          ( خارج المنهجقطعة من  ) 
  
The Bald Eagle is a majestic bird.  The adult bird has a brown body, brown wings, white head, 

and large, hooked yellow bill. Younger birds appear all brown.  Bald Eagles almost always live 

near water because their main food source is fish.  Sometimes, however, Bald Eagles will eat 

dead animals (carrion). They will even steal food from other birds such as ospreys and gulls!  

It was f this reason that the famous Patriot Benjamin Franklin preferred the wild turkey as 

America's national symbol. Nevertheless, the bald eagle remains America's symbol. 

 

- How are younger Bald Eagles different from adult Bald Eagles? 

a) They have black bills 

b) They are smaller 

c) They are totally brown 

d) They have lighter bodies 

 

-  Benjamin Franklin thought that …………….. 

a) the Bald Eagle was a fine choice as America's symbol 

b) the Bald Eagle was a better choice as America's symbol than the Wild. Turkey 

c) neither the Wild Turkey or Bald Eagle were good choices as America's symbol  

d) the Wild Turkey was a better choice as America's symbol than the Bald Eagle 
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-  What color is the Bald Eagle’s bill? 
a) White 
b) Brown 
c) Yellow 
d) Black 
 
 

-  the word ‘hooked’ in ‘hooked yellow bill’ is _____ 
a) A subject 
b) A verb 
c) An adjective 
d) A preposition 
 
 

-  The word ‘carrion’ in the above passage means _____ 
a) Live animals 
b) Wild animals 
c) Dead anginas 
d) Dead animals 
 
 

-  The word ‘steal’ in the in above passage means _____ 
a) To take something that is not yours without permission 
b) To take something that is yours with permission 
c) To help people solve their problems 
d) To inform other creatures that will leave another place 

 
- ospreys and gulls are kinds of ______ 

a) Insects 
b) Vegetables 
c) Fish 
d) Birds 
 
 

- According to the above passage. America ‘s symbol is  
a) Bald eagle 
b) Sea gull 
c) Ospreys 
d) Wild Turkey 
 
 

-  Why do Bald Eagles usually live near water? 
a) Because bald Eagles like to swim 
b) Because it protects the nest from predators 
c) Because they steal food 
d) Because bald Eagles eat fish 
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-  The author seemed surprised that _____ 
a) Bald eagles eat fish  
b) Bald eagles steal food from other bird  
c) The Bald eagles is America’s symbol 
d) Bald eagles have white heads  

 
 

  

 
 
Read  the  following  passage  and  answer  the  questions  that  follow :  
  
Some people say “Everybody is going to shop online , from home. There will not be they more 
real shopping malls. “Other people have a different picture of the future; they “there will still 
be shopping malls ,people will work at home alone, on their computers. They will want to go 
out to stores for shopping. They will want to social happing in stores will be easy. People will 
not need to carry many bags from store; they will only choose products. The stores will 
deliver most of their purchas to their houses and people won’t need to carry money or credit 
cards with them. An eye scan will identify their eyes. They won’t only have big department 
stores and many small stores. Malls will still be places for shopping and entertainment. But in 
mall of the future, busy people will also go to the doctor , the dentist, and the post office. They 
will go to gym, too. Everybody agrees about one thing; shopping will be different in the store. 
 
 
- The  expression  “different  picture  of  the  future”  in  the  above  text  means. . .  
. 

a) Different  photos  for  the  features 
b) Different  perspective  of  future 
c) Different  future  for  the  camera 
d) Similar  opinion  about  something  or  someone 

 
 
- “Socialize”  in  the  above  passage  means. . . .  

a) to spend time with dogs or with other animals in order to improve yourself. 
b) to spend time with friends or with other people in order to enjoy yourself. 
c) to waste time with friends or with other people in order to earn money. 
d) to work hard with friends or other people in order to pass your exam. 

 
- “ Department  store ”  in  the  above  passage  means. . . . .  

a) a small  shop  divided  into  several  different  parts 
b) a large  shop  that  sells  the  same  product 
c) a large  shop  divided  into  several  different  parts 
d) a large  sheep  that  you  raise  in  your  own  way 

 

 مكرر بإختلاف المعطيات

 مكررة بتشابه بعض الأسئلة/ س 11ل ونستخرج الاجابات منها قطعيضع 

 القطعه من خارج المنهج 
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- The  contracted  form  “ won’t ”  in  the  above  passage  means. . . . 
A.  cannot  
B.  is  not 
C.  want 
D.  will  not 
 

- “ Identify ”  in  the  above  passage  means. . . . 
a) to  organize  something  and  prove  what  that  thing  is . . . . 
b) to  forget  someone  and  never  remember  who  he  she  is 
c) to  recognizer  someone  and  say  or  prove  who  that  person  is 
d) to  socializer  with  other  people 

 

- “ Deliver ”  in  the  above  passage  means. . . . . .   مكرر بإختلاف المعطيات 

a) to  take  advantage  of  someone’s  weakness  and  hesitation 
b) to  take  goods, letters , etc , to  people’s  houses  or  places  of  work 
c) to  fake  goods,  letters, etc , and  give  to  people’s  wive 
d) to  take  goods, letters etc . and sell  them  again  in  an  academy 

 
 
 

- “ Alone ”  in  the  above  passage  means. . . .  مكرر بإختلاف المعطيات 

a) without  other  pupils 
b) with  one  person  only 
c) without  other  people 
d) with  other  people 

 

- “ Entertainment ”  in  the  above  text  means. . . . 
a) something  affording  pleasure  or amusement  
b) something the  causes boredom  and  monotony 
c) something  affording leather  or  piecement 
d) something  affording  drowsiness  and  money 

 
 

 
 
 
Read  the  following  passage  and  answer  the  questions  that  follow :  
 

The  American  Revolution 
 

The first battle of the American Revolution occurred at Lexington, Masschusetts in 1775. The 
American colonists were any one about numerous taxes issued by the British king. In 1776, 
the colonists issued the Declaration of Independence, adocument written by Thomas 
Jefferson that outlined America’s intention to to become a new country separate from 
England. England wanted to maintain control of America, and vowed to fight the colonists. 

 مكررة بتشابه بعض الأسئلة/ س 11ل ونستخرج الاجابات منها قطعيضع 

هذه القطعه من خارج المنهج 
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The war lasted eight long years. The Americans won many important battles such asthos at 
Saratoga, Washigton and Yorktown. Many American heroes emerged such as George 
Washington. Thomas Jefferson and Benjamin Franklin. Finally, in 1781, the British surrended 
at Yorktown, Virginia and a new nation was born two yers later. 
 
- The  word “ revolution ” in  the  above  paragraph  refers  to . . . . 

a) an  entertainment 
b) a  reevaluation 
c) an  uprising 
d) resolution 

 

- The  NOUN  from  the  verb  accurred  in  the  above  passage  is . . . . . 
a) accurs 
b) accruable 
c) occurrence 
d) octopus 

 
- “ Numerous”  in  the  above  paragraph  means . . . . . 

a) only  one 
b) many 
c) money 
d) less 

 
- The  word “ separate ” in  the  above  passage  means . . . . .  

a) to  be  part  and  parcel  of  something  or  country 
b) to  be  independent  of  something  or  of  another  country 
c) to  always  be  associated  with  something  or  country 
d) to  be  dependent  on  something  or  on  another  country 

 
- The  NOUN from  the  verb  “ fight ” in  above  passage  is . . . . . 

a) fought 
b) fighted 
c) fighter 
d) fights 

 
- The  “ Delaration ”  in  the  above  passage  is .  . . . . 
 

a). a document written by George Washington that outlined America's intention to 
become a new village. 
b). a document written by Benjamin Franklin that outlined America's intention to 
become a new country. 
c). a speech delivered by Thomas Jefferson that refused America's intention to 
become a new country. 
d). a document written by Thomas Jefferson that outlined America's intention to 
become a new country separate from England 
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- The  first  battle  of  the  American  Revolution  occurred  at . . . . 

a) London 
b) Lexon 
c) Massachusetts 
d) Mass  ashes 

 
 
- The  NOUN  from  the  adjective  angry  is . . . . 

a) under 
b) anger 
c) finger 
d) hunger 

 
- What  does  the  word  issue  mean  in “ taxes  issued  by  the  British  king ” ? 

a) To  play  or  put  on  authoritively  or  publicly, as  an  illegal  write  or  money 
b) To  send  or  put  forth  authoritively  or  publicly, as  as  a legal  write  or  money  
c) To  bend  or  pat   authoritively  or  enthusiastically, as  a nickel  or  money  
d) To  hind or  place  on  authoritively  or  manually, as  a legal or  dowry  money 

 

- The  VERB  from  the  noun   Independence  is  . . . . 
a) despond 
b) dependent 
c) dependence 
d) depend 

 
- Which  of  the  following  was  NOT  a hero  that  emerged  from  the  Revolutionary  War ?   

a) Thomas  Jefferson 
b) George  Washington 
c) Benjamin  Franklin 
d) Abraham  Lincoln 

 
 
- The  verb  maintain in “ maintain  control “  means  . . . . 

a) eat 
b) keep 
c) waste 
d) fake 

 
- What  does  the  verb  lasted  mean  in the  above  passage ?    

a) the  last  one 
b) continued 
c) located 
d) depend 
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- The  verb  emerged  in  the  above  paragraph  means  . . . . 

a) found  out 
b) killed 
c) enabled 
d) appeared 

 
- Which  of  the  following  was NOT  true  about  the  Delaration  of  Independence ? 

a) It  said  that  colonists  wanted  their  own country 
b) It  said  that  England  wanted  a separate  country 
c) It  said  that  colonists  wanted  to  be  separate  from  England 
d) It  was  written  by  Thomas  Jefferson 

 
 
- Which  of  the  following  is an  important  battle  won  by  the  colonists  ? 

a) Yorktown 
b) Saratoga 
c) Washington 
d) Minnesota 

 
 
- Which  of  the  following  is NOT  true  ? 

a) The  British  vowed  to  fight  the  colonists 
b) The  British  surrendered  at  Saratga  in  1783 
c) The  colonists  won  important  battles  at  Yorktown  and  Saratoga 
d) In  1783, a new  nation  was  born 

 
 
 
- Why  did  the  Revolution  occur  ? 

a. Colonists  were  angry  about  their  poor  living  conditions 
b. England  attacked  the  colonies 
c. Colonists  were  angry  about  having  to  pay  so  many  taxes 
d. Colonists  wanted  to  have  more  lands 

 

. . The verb outlined in the above passage means. . . . . . . 
 
a. take the unimportant features or general idea of. 
b. talked about the future of general ideas. 
c. gave the main features or general idea of. 
d. gave the man future of what is going to happen                                                 

 

28. The ADJECTIVE from “Finally” in the above passage is . . . . . . . . . 
a. find 
b. finish 
c. finance 

d. final 
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- The  Revolutionary  War  lasted _____ years   

a) 80 
b) 18 
c) 8 
d) 88 

 

4 الرابعةلمحاضرة ا  

 - Your  brother . . . . tennis  very  well 
a) plaies 
b) play 
c) plays 
d) is  play 

 

It ............ a lot in Britain. 
a) rain  
b) rains 
c) is rain 
d) raining 

 
Maria lives ………. Olive street 
a) on  
b) between  
c) in 
d) next 

 
 

Maria lives …on…. Olive street /  الاجابة الصحيحة غير موجودة ضمن الخيارات on  
a) He  
b) She   
c) It  
d) They  

 
 

-  Choose the correct sentence; 
a) A question ends with a question mark (?) and a statement ends with a period (.) 
b) A question ends with a question mark (.) and a statement ends with question mark (?) 
c) A question starts with a question mark (?) and a statement starts with a period (.) 
d) Both the question and statement and with a question mark (?) 

 
 
- My sister ……… in London 

a. Lives  
b. Live 
c. Is live 
d. Do not have 
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Ann  and Faisal …….. football every weekend ? ……………… . 
a) plays 
b) play 
c) plaies 
d) playing 

 
 

5 المحاضرة الخامسة  

 
 - Choose  the  correct  short  answer  for “ Is  your  sister  at  home “ 

a) Yes, she  is  not 
b) No,  she  is 
c) Yes, she  is 
d) Yes,  we  are 

 

- Sally and her sisters ……….many  books 
a) has 
b) they 
c) are 
d) have 

 
Choose the correct question for the following short answer; Yes, they are. 
a) Did they arrive? 
b) Are they at school? 
c) Do they arrive early? 
d) Can they be at school? 

 

Choose the correct short answer for “ Is your father a policeman ?” 
a) Yes , he is not 
b) No , he is not 
c) No , he is 
d) Yes , they  

 
Salman and his friend …….. many cars 
a) Do  
b) has 
c) have 
d) is 
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Choose the correct short answer for the question "Is your mother happy?" 
a) Yes, she did not 
b) Yes, she does not 
c) Yes, she will not 
d) Yes, she is 
 
 

Choose the correct question section sentence from ‘Cairo is in Egypt’ 
a) Where Cairo is? 
b) Is where Cairo? 
c) Where is Cairo? 
d) Is Cairo where? 
 

 
Sally  . . . . . your  teacher 

a) am 
b) are 
c) have 
d) is 

 
 
- Read  the  following  example  and  choose  the  sentence  where  the verb  changed   to  its  
correct  pronouns: 
 
- ‘The  children  play  in  the  garden ’ 

a) He  is  playing  in  the  garden 
b) We  are  playing  in  the  garden 
c) They  are  playing  in  the  garden 
d) She  is  playing  in  the  garden 

 
 
-  Choose  the  correct  short  answer  for  “Is  your  father  an  engineer ?”  

a. Yes, he  is  not 
b. Yes, he  is 
c. No,  he is 
d. Yes,  they  are 

 
- Choose the sentences that contains an object of a prepetition  

a) She prefers reading books  
b) They drank their coffee 
c) They stopped at the station. 
d) They wanted to share theic ideas  
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Sally and her sisters …… books 

a) have    
b) had 
c) has 
d) not had 

 

Sally…… has a new computer 
a) We  
b) They  
c) I 
d) She  

 

 

 6 المحاضرة السادسة

 - Choose  the  sentence  that  contains  a compound  subject 
a) Water  boils  at  100 Degree 
b) My  keyboard  stopped  responding  
c) The  pupils  and  their  instructor  will  join  the  trip 
d) Ali  passed  his  exam 

 
  . . . . . . sunglasses  belong  to  me 

a) This 
b) That 
c) These 
d) A 

 

 
The children are next; it is ………. turn (113ص)  
a) his 
b) their 
c) her 
d) your 

 
  . . . . . . this ?  This  is  my  new  notebook 

a) Who  is 
b) What  is                                 
c) What  are 
d) Where  are 

 
……….? This is my new notebook 
a) Who is this 
b) What is this 
c) What are these  
d) Where are those 
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- Choose  the  sentence  that  contains  a prepositional  phrase 

a) He  wrote  four  letters  last  night 
b) They  saw  Sally  watching  the  TV. 
c) They met  their  teachers  in  the  party 
d) The  manager  gave  a lecture 

 

………. pens belong to me 
a) This 
b) That 
c) These 
d) A 

 
- ………… books belong to the library . 

a. That 
b. Those 
c. This 
d. A 

 
- Look at those people over there , ………… they? 

a. Who is 
b. What 
c. Who are 
d. Where is 

 

 7 المحاضرة السابعة

 - . . . . . . , you  are  using  the  internet  
a) When  you  are  offline 
b) When  you  are  online 
c) When  you  use  an  eyeliner 
d) When  you  are  alone 

 
- When you have a profit …………….. 

a. you have gained monkey 
b. you have Lost money  
c. you have wasted money 
d. you have gained money  

 
 

What is the past of the verb “Swim” ? 
a) Swimt  
b) Swimming  
c) Swam  
d) Swimed 
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What  is the  NOUN  from  the verb “Think” ? 
a) thanks 
b) thought 
c) thoughtful 
d) thank 

 
What is the VERB from the adjective “special” 

a) specialize 
b) specialization 
c) specification 
d) specially 

 
 

3 المحاضرة الثامنة  

 - A large  room  with  equipment  for  exercising  the  body  is . . . . 
a) a classroom 
b) a post  office 
c) a video  game 
d) a  gym 

 

- The  place  where  stamps  are  sold  and  from  where  letters  are . . . . . . 
a) The  past  office 
b) The  boost  office 
c) The  post  office 
d) The  posset  office 

 
“ purchase ”  as  a verb  means. . . . 

a) To  buy 
b) To  try 
c) To  pay 
d) To  pray 

 
- To  have  the  same opinion  means  to . . . . . 

a) an agree 
b) guarantee 
c) agree 
d) goatee 

 
- The  NOUN  from  the  verb  carry  is . . . . 

a) carrot 
b) cartone 
c) current 
d) carrier 
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- The  VERB  from  the  noun  “computer”  is . . . . 
a) computers 
b) computer 
c) computerize 
d) comprise 

 
 

Read the following passage and answer the questions  
"Everybody is going to shop online, from home. There won't be any more real stores 
or shopping malls." But Other people have a different picture of the future. They say, ' 
There will be Still the future, people will work at home, alone, on their computers. 
They'll want to go out to stores for their shopping. They'll want to socialize—be with 
other  people." Maybe they're right.  
But Stores of the future  will probably be different from stores today, 
Shopping in stores will be easy. First, people won't need to carry many bags from 
store to store. In stores, they will only choose products. They won't carry them home . 
The stores will deliver most of their purchases , such as clothes and books, to their 
houses. Second, people won't need to carry  
Money or credit cards with them,  An eye scan will identify their eyes put their 
purchases on their Credit card  
shopping malls will probably also be different form today. They won’t only have big 
department stores and many small Stores. Malts will still be places for shopping and 
for 
entertainment such as movies. But in malls of the future. Busy people will also do 
other things.  
They go to the doctor. The dentist , and the post office. They will go to the gym, too 
Everybody  
agrees about one  thing: shopping will be different in the future. 
 

What is the meaning of the word: won’t ? 
a) a contraction form of   want + not 
b) a contraction form of   will + not 
c) a contraction form of   / + want 
d) a contraction form of  / + will 

 
 In the future, people will work at home, alone. What does “alone” mean ? 
a) With other people 
b) With computer 
c) Without computers 
d) Without other people 
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 The word “probably” means ………  
a) unlikely to be true 
b) not going to happen 
c) likely to be true 
d) maybe will happen 

 
 The word “purchase” means ………. 
a) Something  that  someone  buys 
b) Something  that  someone  carries  
c) Something  that  someone  holds 
d) Something  that  someone  needs 

 
 Explain the meening of the word “gym” 
a) a large  shop  divided  into  several  different  parts 
b) something  affording  pleasure  or  amusement 
c) a person  whose  Job  is  treating  people’s  teeth 
d) a large  room  with  equipment  for  exercising  the boy  

 
 

 
 In the  future, do  people  need  to  carry  money  with  them  to  the  mall ? 
a) Yes, they  need  to 
b) No,  because  of  the  eye  scan 
c) No, because  of  the  credit  cards 
d) Only  busy  people  need  to 

 
 What  will  busy  people  do  in  the  mall ? 
a) Go  to  the  doctor, dentist, and the  post  office 
b) Go  to  the  big  department  stores 
c) Go  to  the  small  stores 
d) Go  to  carry  many  bags from store  to store 

 
 

 Why  won’t  people  carry  their  products  homes ? 
a) Because the stores  will  have  no bag 
b) Because the stores  will  deliver  them 
c) Because  people  will not  have  money 
d) Because the stores  will  be  small 

 
 Everybody  is going to shop online. “Online” means ………. 

a) using the credit card and money 
b) working  alone 
c) using  the  internet 
d) socializing  with  other people 
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 What is the NOUN from the verb “agree” ? 
a) agreeable 
b) agreeing 
c) agreemental 
d) agreement 

 

 
 An over  the world means ………. 
a) in the Americans 
b) everywhere 
c) everybody 
d) in Africa, Asia, and Europe 

 
 What  does “aunt“ mean ? 
a) the brother of  your  mother  or  father 
b) the sister  of  your  mother  or  father 
c) a child of  your  uncle or  aunt 
d) a parent  of  your mother  or  father 

 
 What is the average  of  children  a Mexican  women has today ? 
a) 7 children 
b) 2.5 children 
c) 2 children 
d) 7.5 children 

 
- The  NOUN  from  the  verb  “deliver”  is . . . . 

a) dentistry 
b) delivery 
c) devil 
d) dairy 

 

-  A person  whose  job  is  treating  people’s  teeth  is  a . . . . 
a) psychologist 
b) speech  therapist 
c) socialist 
d) dentist 

 

- The  NOUN  from  the  verb  “identify”  is . . . . 
a) ideology 
b) identification 
c) idiosyncrasy 
d) ideal 
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- The  NOUN  from  the  verb  “entertain”  is . . . . 

a) entailment 
b) installment 
c) entertainment 
d) enterapment 

 

- The  NOUN  from  the  verb  “agree”  is . . . . 
a) agriculture 
b) arrangement 
c) argument 
d) agreement 

 
 
 
- The  ADJECTIVE  from  the  noun “ department”t  is . . . . 

a) dreary 
b) doctoral 
c) departmental 
d) detrimental 

 
- The  ADJECTIVE  from  the  noun  office  is . . . . 

a) optical 
b) official 
c) optimal 
d) orbital 

 
 
 - Choose  the  sentence  that  contains  a singular  subject   

a) Hala  and  Marwan  are  organizing  a meeting 
b) The  workers  will  arrive  at  5:00 pm. 
c) Ahmad  will  travel  next  week 
d) Hala  and  Marwan  will  leave  the  meeting  earlier 

 
 Choose the sentence that contains a singular subject 
a) Sally and Nadia are organizing a party 
b) The students will arrive tomorrow 
c) Sally will travel at 5:00  O’clock 
d) Nadia and sally will come by bus 

 
 
- Choose  the  sentence  that  contains  a plural  subject   

a) Sally  drinks  her  coffee  early  in  the  mornings 
b) The  girls  have  passed  their  first  time 
c) Yosef  and  Norman  terminated then own contracts 
d) I am  reading  an  articale 
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- Choose  the  sentence  that  contains  a compound  subject   

a) Noriah  broke  her  leg 
b) The  engineers  demanded  a  pay  raise 
c) Hala  signed  a new  contract 
d) Zyad  and  Marry  wrote  many  number 

 

Choose the sentence that contains a compound subject 
a) Mexico is a big country 
b) My computer stopped responding 
c) The students and the teachers will eat together 
d) Sally passed her exam 

 
- write the following words in the correct order: (Amazon.com Jeff started Bezos)   

a) Started Jeff Bezos Amazon.com 
b) Jeff Bezos started Amazon.com 
c) Amazon Jeff Bezos started.com 
d) Com. Jeff Bezos started Amazon 

 
 

3 المحاضرة التاسعة  

- The  train  will  arrive  the  station . . . . . . 7:30 Am. 
a) on 
b) in 
c) at 
d) under 
 

 Sarah ………. Coffee  at  breakfast  every  morning 
a) drink 
b) drunk 
c) drinks 
d) drank 
 

- He . . . . . . tea  at  breakfast  every  morning 
a) drink 
b) drunk 
c) drinks 
d) drank 

 
It ………. a lot  in Britain 
a) rain 
b) rains 
c) is  rain 
d) raining 
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 - My  sister . . . . . . to  the  cinema  very  often 

a) do  not  go 
b) goes  not 
c) does  not  go 
d) go 
 

- My father ……….to  the  supermarket  very  often 
a) do  not  go 
b) goes  not 
c) does  not  go 
d) go 

 
- They  don’t  usually  buy  many . . . 

a) water 
b) coffee  
c) books 
d) sand 

 

- Choose  the  group  that  representing  the  first  pronouns 
a) he, she, it 
b) they , them 
c) we , I  
d) you, your 

 
 
- Choose the sentence in which the verb has a final – s after the 3rd 

a) She will travel tomorrow  
b) He can study abroad 
c) The cat drinks the milk 
d) We respect you 

 
- Adverbs of frequency usually come ______ 

a) Before main verb and after to be 
b) After main verbs and before to be 
c) Before main verb to be and also before main verbs 
d) Only after prepositions 

 
- In the simple present tense, we add an – ies to the end of the verb when the subject is a 

______ 
a) Third person plural and when the verb is preceded by a consonant  
b) First person singular and when the verb ends – a and is preceded by a vowel  
c) Second person plural and when the verb ends in – es and as preceded by a vowel 
d) Third person singular and the verb ends in – y and as preceded by a consonant 
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- Sally and Nadia _______ for their final exam right now. 
a) Prepare 
b) Prepares 
c) Is preparing 
d) are preparing 

 
 

She  ………. Tea at breakfast every morning 
a) drink  
b) drunk 
c) drinks 
d) drank 

 
- Sally  usually  . . . . fish  every  weekend  

a) ate 
b) eats 
c) eat 
d) eaten 

 
-  Nader and his brothers ………. Many books 

a) have 
b) be 
c) has 
d) is 

 
I  . . . . . English  very  well 

a) does  not  speak 
b) do  not  speak 
c) speaks  not 
d) no  speak 

 
choose the sentence that expresses a habitual activity  
a) Sarah goes to the movies every month 
b) Sarah drank green tea yesterday 
c) Sarah will watch a movie at 11 O’clock today 
d) Sarah had passed her exam 

 
My sister ………. to the cinema very often . 
a) Do not go 
b) Goes not 
c) Does not go 
d) go 
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 11 المحاضرة العاشرة 

 - David . . . . . . a rinbow  cake  at  this  moment 
a) eat 
b) eats 
c) is  eating 
d) ate 
 

- Faisal ………. his  homework  right  now 
a) does 
b) do 
c) has done 
d) is doing 
 
- Sally and Faisal ……….dinner at this moment 
a) have 
b) is having 
c) are  having 
d) had 

 

- To  make  questions  in  the  present  progressive,  we  start  with  . . . . . 
a) HAVE (or  has) followed  by  the  subject  and  then  the  main verb- subject 
b) BE (am, is, are) followed  by  the  subject  and  then  the  main verb- subject 
c) BE (am, is, are) followed  by  the  object  and  then  the  main verb- object 
d) BE (was  or  were) followed  by  the  subject  and  then  the  main verb- subject 

 
 - It  is  . . . . . right  now 

a) snows 
b) snowing 
c) snow 
d) snowed 

 

- I . . . . . . pizza  very  much   
a) likes 
b) like 
c) liking             
d) is  like 

 

- The  banks . . . . on  Saturdays    
a. does  not  open 
b. do  not  open 
c. opens 
d. opens  not 
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Faisal……….. a chocolate cake at this moment  
a) Eat 
b) Eats  
c) Is eating  
d) Ate  

 
 

Sarah is very busy right now: she ……… her homework 
a) does 
b) did 
c) is done  
d) is doing 

 
 

 11 ضرة الحادية عشرالمحا

Give  the  opposite  of  the  word “easy”  
a) difficult 
b) different 
c) similar 
d) small 

 
What is  the  opposite  of  the  word ‘poor’ ? 

a) present  
b) past 
c) rich 

 
 
What is the opposite of the word “difficult” ? 
a) uncase  
b) different 
c) poor 
d) easy 

 
 

 12 ية عشرالمحاضرة الثان

Read the following passage and answer the questions 11-20 
 
1  These are pictures of family, I took the pictures Iast summer. We don't live  
together. We live in different cities, different states. and two countries. But We often  
talk to each other on the phone or send email. Every summer all the relatives come  
together for a week. This is our family reunion. and it's so much fun.  
2   There are two branches in our family one branch Mexico and one from  the United States. 
People come to the reunion from California. Arizona. New York and Florida. Other people 
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come from Mexico City and Puerto Vallarta. My great-grandparents live in Puerto Vallarta, and 
my grandparents now live in Arizona.  
3  At the reunion. we have a picnic one day. We play baseball, swim, and cat a lot.  
We play volleyball, too. One day some of us go shopping. One night we always have a  
big barbeque. We sit around a fire, tell stories, and eat a lot. Some of my aunts and  
uncles sing. On the last night, we have a dinner party at a nice hotel. Our family really  
likes to eat.  
4   We don't only eat. We visit with each other all week. We talk about problems.  
We plan weddings. Sometimes we argue. All bring their new babies, new wives and  
husbands. It's good to have a big family. But at the end of the week, I'm always very  
tired. I'm happy to be alone 
 
 

What does “uncle” mean ? 
a) The sister of your mother or father 
b) A child of your uncle or aunt 
c) A parent of your mother of father 
d) Your mother of your mother of father 
e) (The brother of your mother or father) الصيغة الصحيحة للأجابة 

 
 

In the reunion, what do the family talk about ? 
a) weddings 
b) problems 
c) shopping 
d) dinner and barbeque 

 
How often does the family have a reunion  ? 
a) Each month 
b) Every year 
c) Every five year 
d) Every spring 

 
How long is the reunion ? 
a) One week 
b) Two weeks 
c) One year 
d) One month 

 
 

In the writer’s opinion, what is most important about a family reunion ? 
a) It is a chance to eat a lot 
b) It brings family members together 
c) The aunts and uncles sign 
d) The dinner party at a nice hotel 
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How does the writer feel at the end of the week ? 
a) unhappy 
b) hungry 
c) tired 
d) hot 

 
where do the grandparents live now ? 

a) Arizona 
b) Mexico  
c) Puerto Vallarta 
d) Florida  

 
-  Paul . . . . . awake  till  midnight  every  day 

a) sties 
b) stayed 
c) stays 
d) staying 

 
 
 

 19 المحاضرة الثالثة عشر

 
 - Choose  the  sentence  that  contains  an  object   of  a preposition  

a) Sally  studies  English  every  day 
b) Dalia  is  an  engineer 
c) Ahmad  works  in  a factory 
d) Dogs  are  animals 

 
 I have five ……….in the house 

a) fish 
b) fishes 
c) fishe 
d) fishing 

 
The  plural  of  “child” is ………. 

a) childs 
b) kids   
c) children 
d) childish 

 
- Write  the  words  in  the  correct  order: ( knows  the  everyone  internet  about ) 

a) The everyone knows internet about. 
b) Internet  knows  the  everyone  about 
c) Everyone  knows  about  the  internet 
d) About  knows  the  everyone  internet 
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John loves Mary; he loves . . . . . very much 

a) me 
b) him  
c) her 
d) she 

 
 

Mary loves john; she loves ………very much 
a) him 
b) her 
c) she 
d) me 

 
 
- Dalia  loves  Ahmad; she  loves . . . . very  much   

a) he 
b) she 
c) him 
d) our 

 
The  plural  of ‘child’ is . . . . . 

a) childs 
b) kids 
c) children 
d) children's 

 
 

Choose the sentence that contains “an object of a preposition “ 
a) Sally studies English every day 
b) Dalia is an engineer 
c) Ahmad  works in a factory 
d) Dogs are animals 

 
 

I have one watch , but you have three……… 
a) watch 
b) watches 
c) watchies 
d) watch 

 
Complete with the correct pronun; Ahmed is my brother , I’m eating breakfast with 

…………. Every morning 

a) them 
b) her 
c) him 
d) you 
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she  bought three new shirts and two …….. 

a) watchss 
b) watches 
c) watche 
d) watchies 

 
 

I had five ………. In the house 
a) mouse 
b) mouses 
c) mice 
d) meese 

 
 

He ate four ……… for dinner 
a) fish 
b) fishes  
c) fishs 
d) under 

 

 14 المحاضرة الرابعة عشر

 - Choose  the  sentence  that  contains  a singular  subject 
a) Sally  and  Nadia  are  organizing  a party 
b) The  children  will  arrive  at 3:00 O’clock 
c) Sally  will  travel  tomorrow 
d) Nadia and  Sally  will  come  to  the  meeting 

 
Choose  the  sentence  that  contains  a plural subject   

a) She  will  study  abroad 
b) Nadia  and  her  sister  work  in  library 
c) The  teachers  will  meet  us  at  1.30 pm. 
d) Nadia  speaks  three  different  languages 

 
How ……… chairs in that room ? 

a) much  
b) a little 
c) little  
d) many 

 
- Sarah  lives ………. University  Street 
a) on 
b) between 
c) in 
d) next 
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  Sally  gets  . . . . . letters 

a) much 
b) many 
c) a little 
d) one 

 

 - Choose  the  correct  sentence 
a) Cats  are  animals   
b) Cat  are  an  animal 
c) Cats  an  animals 
d) Cats  is  an  animals 

 
- I do  not  drink  . . . . coffee  

a) many 
b) much 
c) a few 
d) an 

 

- Ahmed reads ………. books 
a) much 
b) many 
c) a little 
d) one 

 
- Choose  the  group  that  represents   noncount  nouns 

a) file, document, paper, apple 
b) book, door, marker, printer 
c) advice, help, music, homework   
d) note, bag, boy, girl 

 
 
 - Choose  the  correct  sentence 

a) Rabbits  are  an  animals 
b) Rabbit  are  an  animal 
c) Rabbits  are  animals  
d) Rabbits  is  animals 

 
- His  mother  does  not  get  . . . . . letters 

a) much 
b) a 
c) an  
d) many 
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 -  . . . . . is  a noun  that  does  not  use  ‘a’  or ’one’  in  the  word  which  does  not  have  a 
plural  form 

a) A count  noun 
b) A noncount  noun 
c) A common  noun 
d) A singular  noun 

 
- Choose the group of words that represents common noncount nouns 

a) Come, teach, read, bring 
b) Teacher, farmer, writer, player 
c) Advice, money, music, traffic 
d) In, on, at, for 

How many branches are there in the family ? 
a) two 
b) twenty 
c) twelve 
d) only one  

  تمت
 
 

 

From  the  reading  passage,  What are the basics ? 
e) Africa, the Americans, Asia, and Europe  
f) Food, clothing , and housing 
g) parents and their children 
h) grandperents, aunts, uncles, cousins, children, and 

grandchildren 
 
 
 
 
 

لعام  ارفاق القطعة بنهاية التبويب لأنها خارجية وليس لها محتوى بالملخص وهي من ضمن أسالة الفصل الصيفي تم
  هـ1493

 
Read  the  following  passage  and  answer  the  questions  that  follow :  
 

The American Revolution 
The first battle of the American Revolution occurred at Lexington, Massachusetts in 
1775. The American colonists were angry about numerous taxes issued by the British 
king. In 1776, the colonists issued the Declaration of Independence, a document 
written by Thomas Jefferson that outlined America's intention to become a new 
country separate from England. England wanted to maintain control of America, and 
vowed to fight the colonists. The war lasted eight long years. The Americans won 
many important battles such as those at Saratoga, Washington and Yorktown. Many 

ةظحلام  
 ةرضاحم يلا هفينصت متي مل لاؤسلا

ناديل ذجومنلا لامتكا مدع ببسب  
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American heroes emerged such as George Washington, Thomas Jefferson and 
Benjamin Franklin. Finally, in 1781, the British surrendered at Yorktown, Virginia and a 
new nation was born two years later. 
 
 

- 1)   The word ‘tax’ in the above paragraph refers to………… 
a. a sum of money give by government for its citizens for facilities or services  
b. a sum of money demanded  by government for  its support  or for specific facilities or 

services  
c. a sum of money demanded  by a person who wants to study abroad 
d. a number of books that one has to read within a limited of time  

 
- 2)    The first battle of the American Revolution occurred at ……….. 

a. London 
b. Lexdon 
c. Lexington 
d. Mass ashes 

 
- 3)  Which of the following was NOT  true about the Declaration of independence ? 

a. It said that colonists wanted their own country  
b. It said that England wanted a separate country 
c. It said that colonists wanted to be separate from England 
d. It was written by Thomas Jefferson  

 
- 4) Which of the following was NOT an important battle won by the  colonists ? 

a. Yorktown 
b. Saratoga 
c. Washington 
d. Minnesota 

 
- 5) Which of the following is NOT true  
 

a. The British vowed to fight the colonists 
b. The British surrendered at Saratoga in 1783  
c. The colonists won important battles at Yorktown and Saratoga 
d. In 1783 , a new nation was born 

 
- 6) The NOUN from the adjective angry is ……….. 

a. Under 
b. Anger 
c. Finger 
d. Hunger 

 
- 7) what does the word issue men in ’taxes issued by the British  

a. To play or put on authoritatively or publicly , as an illegal writ or  
b. To send or put forth authoritatively or publicly , as a legal writ or 
c. To bend or pat authoritatively or enthusiastically , as a nickel or  
d. To hind or  place automatically or manually m as a legal or dowry  
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 والشكر موصول للأخ طموح شايب على التبويب 
(صدى الأمل ، فيلارك ، ياسمين ) هـ بواسطة  1493تمت كتابة أسئلة الفصل الدراسي الثاني   

 

وياسمين وشرح وحلول المبدع فيلارك الندى الخالد/ اعداد أختكم   
   وياسمين حلام اليقظة تنسيق أ

 

93/2 جذومن أسئلة الترم الصيفي ناقصة  ولم نحصل على البقية تنويه  

ةلئسا ثلاث صقان  

تمنياتنا لكم بالتوفيق         بيبح بنيزو ةظقيلا ملاحأ   ةطساوب مت ريخلأا ثيدحتلا  

ـه1493 /6/7  

2&1 نيجذومنلا /93 مرتلا ىلإ يفيصلا مرتلا نم شيهدلا دهف روتكدلا  

ريغتي مل جهنملا نأب ا  ملع للاه دمحا روتكدلل ةقباسلا جذامنلا  

 شرح للحلول
 (والحلول ليست موجودة في الملخص)القطعة من نماذج اختبارات سابقة 

 .صحيح Bيتم طلبها من الحكومة، إذا الاختيار  TAXالضريبة  - 1

 .في السطر الأول من القطعة - 2

 .في السطر الرابع، أمريكا هي التي تريد الانفصال عن انجلترا وليس العكس، إذا الاختيار صحيح - 9

 .ليست من ضمنها، والاختيار صحيح Dمعارك، والإجابة في  9طر السادس، تم ذكر أهم في الس - 4

 .صحيح Bفي السطر الأخير، تاريخ ومدينة الاستستلام مختلفة عن الاختيارات، لذا الاختيار - 5

 ".angry"والصفة " anger"الاسم  - 6

 .B، هو الاختيار "اعتماد الضرائب بواسطة البريطانيون"معنى  - 7

 


